575 Series

Tilt Bearing Assy. & Tilt Sensor

RN E WD

=
w N = o

99140011
90719068
90701071
80010085
99260261
90709030
99260159
800400177
90709030
90702070
90709103
90717022
90706056

FINAL VIEW

(0

ogcd

Tube, Tilt Short With Shoulder
Bearing

Retainer Ring, Zinc

Board, Dual Sensor

Bracket, Encoder Sensor Board
Screw, Phil Pan #4 x 1/4
Bracket, Tilt Bearing Right
Board, Sensor Pan/TIit

Screw, Phil Pan #4 x 1/4
Standoff, Pan/TIlt Stop

Screw, Phil Pan 10 - 32 x 7/8
Tubing, 3/8" Fuel

Washer, Flat #10



